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ECE 300
Fall Semester, 2007
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Work the exam on the paper provided.

(1) You are given the op amp circuit shown in Figure 1.
(2) What is the rail-to-rail voltage of the circuit?
(b) If Vs =2.2 V, what is the value of V?
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Figure 1: Circuit for problem 1.
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(2) You are given the circuit of Figure 2. Determine the relationship between V, and L,
Circle the correct answer from the following list.

(@) Vo=24- 5, () Vo=14+31, () Vo=401,

(b) ¥, =181, (d) Vo=30-7I, () Vo=40I,—4
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Figure 2: Circuit for problem 2.
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(3) You are given the circuit of Figure 3.
(a) Find the Thevenin equivalent circuit to the left of terminals a-b.
(b) Draw your Thevenin circuit using your Vg and Ry.
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Figure 3: Circuit for problem 3.
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(4) You are given the circuit of Figure 4. Find the value of R that will result in maximum power
being delivered to this resistor.
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Figure 4: Circuit for problem 4.
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(5) You are given the op amp circuit of Figure 5.
(a) Find the relationship for & in terms of R.

Ls
(b) If R =1 kQ, what is the maximum value allowable for is in order not to saturate the op amp?
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(6) You are given the circuit of Figure 6.
(a) Find the Norton equivalent circuit looking into terminals a-b.
(b) Draw the Norton equivalent circuit using your values of Iy and Rx.
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Figure 6: Circuit for problem 6.
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